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Run 4568 triggerwise, sums: All

Entries: 4099295

Mean: 4074.2009 +/- 1.9179

Std Dev: 3883.1778 +/- 1.3562

Run 4568 triggerwise, sums: All
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Run 4568 triggerwise, sums: Beam OFF

Entries: 1079

Mean: 1413.7998 +/- 47.1365

Std Dev: 1548.3463 +/- 33.3305

Run 4568 triggerwise, sums: Beam OFF
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Run 4568 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 790021

Mean: 5179.5880 +/- 5.7907

Std Dev: 5146.9151 +/- 4.0946

Entries: 789255

Mean: 5183.0043 +/- 5.7981

Std Dev: 5151.0070 +/- 4.0999

Run 4568 triggerwise, sums: Beam ON, Laser ON
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Run 4568 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 1240677

Mean: 3376.9664 +/- 2.2994

Std Dev: 2561.1662 +/- 1.6259

Entries: 1238588

Mean: 3380.9496 +/- 2.3092

Std Dev: 2569.9828 +/- 1.6329

Run 4568 triggerwise, sums: Beam ON, Laser OFF
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